

$$f(x) = f(\tan^{-1}x + \sqrt{1+x^2}) \xrightarrow{\substack{cf'(a) = a' f(a) \\ \tan'(a) = \sec^2 a}} g'(a) = \frac{1}{\sqrt{1+x^2}} \times \frac{1}{\frac{1}{\sqrt{1+x^2}}} + f'(a) \left(\frac{x}{\sqrt{1+x^2}} \right) = \sqrt{1+x^2}$$

$$\rightarrow f'(x) = \sqrt{1+x^2} \rightarrow f'(x) = \sqrt{1+x^2}$$

$$f(x) = \frac{1 + \cos x}{1 - \cos x} = \frac{(1 + \cos x)(1 + \cos x)}{(1 - \cos x)(1 + \cos x)} = \frac{1 + \cos x}{1 - \cos^2 x} = \frac{1 + \cos x}{\sin^2 x}$$

$$g(x) = \frac{1}{1 - \cos x} \rightarrow g'(x) = \frac{-1 \cdot (-\sin x)}{(1 - \cos x)^2} = \frac{\sin x}{(1 - \cos x)^2}$$

$$f'(x) = \frac{1 + \cos x}{\sin^2 x} \rightarrow f'(x) = \frac{1 + \cos x}{\sin^2 x} = \frac{1 + \cos x}{(1 - \cos^2 x)^2} = \frac{1 + \cos x}{(1 - \cos^2 x)^2}$$

$$f(x) = (x^2 - 1)\sqrt{x} \rightarrow f'(x) = \frac{2x}{\sqrt{x}} = \frac{2\sqrt{x}}{1} = 2\sqrt{x}$$

$$f(x) = (x^2 + 1)\sqrt{x} \rightarrow f'(x) = \frac{2x}{\sqrt{x}} = \frac{2\sqrt{x}}{1} = 2\sqrt{x}$$

$$f(x) + f'(x) = -1$$

$$f(x) = \frac{1}{x} \rightarrow f'(x) = -\frac{1}{x^2}$$

$$f(x) + f'(x) = \frac{1}{x} - \frac{1}{x^2} = -1 \rightarrow \frac{1}{x} - \frac{1}{x^2} = -1 \rightarrow \frac{x-1}{x^2} = -1 \rightarrow x-1 = -x^2 \rightarrow x^2 + x - 1 = 0$$

$$f(x) = \frac{1}{x} \rightarrow f'(x) = -\frac{1}{x^2}$$

$$f(x) = x^2 + ax + b \rightarrow f'(x) = 2x + a$$

$$f'(x) = 2x + a \rightarrow 2x + a = 0 \rightarrow x = -\frac{a}{2}$$

$$f(x) = x^2 + ax + b \rightarrow f'(x) = 2x + a \rightarrow 2x + a = 0 \rightarrow x = -\frac{a}{2}$$

$$\phi - r g\left(\frac{v_n}{4}\right) = \frac{(r + \cancel{C \cos n})(C \sin^r n - r \cos n + \varepsilon)}{(r - \cos n)(r + \cancel{C \cos n})} - \frac{r}{r - \cos n} = \frac{C \sin n (C \sin^r n - r)}{r - \cancel{C \cos n}} = -C \cos n$$

$$(\phi - r g)' = -(C \cos n)' = +\sin n \rightarrow \sin\left(\frac{v_n}{4}\right) = \frac{-1}{r}$$

$$n \rightarrow \frac{r}{\varepsilon}^+ \leadsto \phi(n) = \varepsilon n - r \sqrt{\frac{r a}{\varepsilon}} \quad \begin{array}{l} \text{مشت} \\ \text{صفرشونده} \end{array} \quad \phi'(n) = \frac{r \sqrt{r a}}{r} = \sqrt{r a}$$

$$n \rightarrow \frac{r}{\varepsilon}^- \leadsto \phi(n) = -\varepsilon n + r \sqrt{\frac{r a}{\varepsilon}} \quad \begin{array}{l} \text{مشت} \\ \text{صفرشونده} \end{array} \quad \phi'(n) = \frac{-r \sqrt{r a}}{r} = -\sqrt{r a}$$

$$r \sqrt{r a} = r \sqrt{4} \rightarrow \sqrt{r a} = \frac{\sqrt{4}}{r} \rightarrow a = \frac{1}{r}$$

$$y = -a n + r \rightarrow \phi(\varepsilon) = -\varepsilon a + r, \quad \phi'(\varepsilon) = -a$$

$$-\varepsilon a + r - a = -1 \rightarrow -\partial a \varepsilon - r \rightarrow a = +\frac{r}{\varepsilon} \rightarrow \phi'(\varepsilon) = -\frac{r}{\varepsilon} \leq -a$$

$$\lim_{n \rightarrow \infty} \frac{\sin^n(x^r) \times r n \sin^{n-1}(x^r) \times \cos x^r}{(r \sin^{\frac{r}{r}} \frac{1}{r})^n} \quad \begin{array}{l} \text{هم‌ارزی} \\ \text{هم‌ارزی} \end{array} \quad \lim_{n \rightarrow \infty} \frac{(x^r)^n \times n \times (x^r)^{n-1} \times r n}{(r (\frac{x}{r})^r)^n} = \frac{(x)^{r n + r n - r + 1} \times r n}{(x)^{r n} \times \frac{1}{r}}$$

$$= \frac{r n x^{\varepsilon n - 1}}{\frac{1}{r^m} \times x^{r m}} = r^{m+1} \times n \times x^{\varepsilon n - r m - 1} \rightarrow \varepsilon n - r m - 1 \leq 0 \rightarrow n = \frac{r m + 1}{\varepsilon}$$

$$\hookrightarrow r^{m+1} \times \frac{r m + 1}{\varepsilon} = r \sqrt{r} \rightarrow m = \frac{r}{r}, \quad n = r \rightarrow r m + n = 9$$